Calculator Overlap questions November 2017 Paper 2
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1/16 Solve 5x-6=3(x-1)

Eheils = e — 35

2 =y = =3
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2/17 Emily buys a pack of 12 bottles of water.
The pack costs £5.64

Emily sells all 12 bottles for 50p each.

Work out Emily’s percentage profit.
Give your answer correct to 1 decimal place.
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8/23 Use your calculator to work out \/ St 250 el 00
cos25 —cos40

(a) Write down all the figures on your calculator display.
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3/18 Hasmeet walks once round a circle with diameter 80 metres.

¢

There are 8 points equally spaced on the circumference of the circle.
(a) Find the distance Hasmeet walks between one point and the next point.
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Four of the points are moved, as shown in the diagram below. H 4
B
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Hasmeet walks once round the circle again. E D

(b) Has the mean distance that Hasmeet walks between one point and the next point changed?
You must give a reason for your answer.

4/19 There are only blue cubes, yellow cubes and green cubes in a bag.
There are
twice as many blue cubes as yellow cubes
and four times as many green cubes as blue cubes.
Hannah takes at random a cube from the bag. o
Work out the probability that Hannah takes a yellow cube.
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(Total 3 marks)
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(a) Rotate trapezium T 180° about the origin.
Label the new trapezium A.
/) 1)
=1} <=
b) Translate trapezium T by the vector
®) p y s L
Label the new trapezium B.
1)
6/21 p* x p*=p’
(a) Find the value of x.
3+x =11 T~
& =G 0
(72))1 = 710
(b) Find the value of y.
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1009 x 1000? can be written in the form 10%
(¢) Show that w=2a+ 3b
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7/22 ABCD is a trapezium.
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Work out the size ot angle CDA. Adj
Give your answer correct to | decimal place.
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TOTAL FOR PAPER IS 26 MARKS
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